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Topic:- Child Development & Pedagogy (CDP)

1) One of the symptoms of dyspraxia is: / feifearar & @teon & 3 Th %:

1. Problem in understanding spellings / aﬁ:ﬁ HH‘\H:I EERSEERss)

2. Problem in doing mathematical calculations / T 70T H=A | JHRT
3. Problem in holding a pen and writing / Uch hefH W 3‘ﬁ? 1%1”@9[ ﬁ RIESESI

4. Problem in the accent of a language / HIYT % o RY] ﬁ SH|

Correct Answer :-

« Problem in holding a pen and writing / Yd> b ¢iH Uﬁer &ﬁ? m%f ﬁ HH[

2) Material for later retrieval is stored in the . [ 9 - | g*lﬂffl?f *» JI%I'l'{ IRt B
# Gudia far smar 21

1. Long term memory / &réishiferes Ffa
2. Short term memory / STgehlioleh FH

3. Rote memory / Hoed Q-T‘l_ﬁ

4, Sensory memory / HAGT Fﬂ'ﬁ'

Correct Answer :-

+ Long term memory / &reiehifereh Ffl

3) Which of the following is a technique used to address stuttering?/ &t & ¥ ia-dy v
dHdld § ST TR gHal (FH-Fh T dleled) F 3T Fel & fow fhar e §2

1. Prolonged Speech / oIF<T $IT9oT
2. Purposeful Speech / 3¢&RAqUT #T9OT
3. Practical Speech / SITagTReh HTYOT

4. Delayed Speech / faeifaa smvor


Lenovo
Stamp

Lenovo
Stamp


Correct Answer :-

 Prolonged Speech / oIF<T $1T9oT

4) The enrichment of environment and experience in the early years of life will enable to
develop ./ Shae & yRfAE a6t & arareor AR e A wopefy 1
fasra & & warA gl

1. innate potentialities / STeHITd &THAI

2. problems / GHTIATT
3. heredity / 3TTeJd IR
4, intelligence / gﬂ:@'

Correct Answer :-

« innate potentialities / STeHSITd &THA

5) Achievement in school is most closely related to WACELICE # 3qaferr @
Ted HOF Awear @ @&fda #

1. The attitude of parents / HAIT-TUT & cTdgR
2. The conduct of students / STAT ST 3TAIT
3. The interaction of peer group / AT Hég, $r aradd

4. The quality of teachers / T2I&TenT T IOTT

Correct Answer :-
« The quality of teachers / fer&Tent hr IOTaT

6) Constructivism does NOT acknowledge the value of knowledge that is: / f#Torare AT & A
N FNFR & Fa1 § I BT

1. Personal / daf&de

2. Subjective / STTFTRP
3. Universal/ @ra#if@s
4. Individual / SaTEFeTd

Correct Answer :-

« Universal/ Grasiifaes



7) The fear of strangers the children develop, is because of ./ FFATEAT FT HT AT TR
fosfa = §, & FROT g B

1. Operant conditioning / ﬁ-WZIT';lH\FI' HleTehofeT (3T Sharerfean)

2. Sign learning / Tehdl FTRRTH

3. Classical conditioning / FORUTATSST Wesheled (Fellifehel heIRIfAd)
4. Insight learning / 37z ¢ 31T

Correct Answer :-

« Classical conditioning / RRUfafSaT TTeJheldd ERUGERECERIGED)

8) The inherent abilities of the child should be while designing the curriculum. / 9ToT$hHA

BosdT Fd AT T=4 ¥ Adfafed aAqEt # Tifew
1. Considered / €T H ST=IT
2. Discarded / Tl ST

3. Separated / 3TeldT shiaT

4, Ignored /| FASI3IGIST &hial

Correct Answer :-
« Considered / €T H ST

9) According to Erikson, role confusion occurs if the is not established. / Eﬁ?ﬂﬂ'*ﬂﬂﬂﬂ,
afg T g grar & ot sffpT F sv Y ¥

1. Intimacy / HTcHTIAT
2. Initiative / Igol

3. Industry / IR=F

4. Identity / YgdTel
Correct Answer :-

 Identity / 9gdTel

10) has developed a socio cultural approach to cognitive development. / aF

TAACAS RAFE & v & aefos-aegfas tiRenor Refa fFar 8
1. Jerome Bruner / SIS SeIX

2. Kolb / @led

3. Jean Piaget / SfieT Oamer



4. Lev Vygotsky / fold arsaliceht
Correct Answer :-

 Lev Vygotsky / fota arganceahr

11) Child development refers to: / Tl A+ A & wefda &:
1. Quantitative changes only / hdel HEICHS® TRAdT

2. Qualitative changes only / shdel UTTcHb gRadd

3. Qualitative changes corresponding to quantitative changes/ [0TlcHh qRAdd, AACHS IR &
3IET B

4. Qualitative changes independent of quantitative changes/ J[0TlcH gRadsl, AECAS IRadAr &
SECERY

Correct Answer :-

* Qualitative changes corresponding to quantitative changes/ d[UTcdh gRAdd, AECHS IRad=T &
3HTET & &

12) What is the most heavily associated characteristic of bipolar disorder among children? / s=at

# A e gy R (aEvier BEi) f gew o Advar = 82
1. Being hyperactive. / 3ifaafehd gler|
2. Being sad often. / 38X 3G glelT|

3. Extreme mood changes./ §S H HcIw dgerd gle|

4. Having exciting behavior./ JHATIH STTER HaT|

Correct Answer :-
* Extreme mood changes./ #3 H 3Acafes Sgara gler!

13) What type of theories acknowledge the contribution of both experience and genetics in
development? / 8 y&R & Rguia, e & g 3R areqafdr A&t & Aeree #
wera §?

1. Interactionist theories / 37d:fohaTarcy ﬁﬁfﬂﬁ
2. Nature theories / 9@'% IGEIG]

3. Deterministic theories / TIfdTE T@ESJTH
4. Nurture theories / GTelel-GIvoT fAGHTA

Correct Answer :-



« Interactionist theories / 37cT:fehaTardr iaa;aia

14) What type of intelligence is involved in overall success in living according to Sternberg? /

TeoAad F HAR, aA-weo (RAfT) F worer gwvaar # g yor 1 gefdwmr afae g 82
1. Logical-mathematical intelligence / dTfeheh-3TfoTcI gﬂﬁﬂm

2. Componential intelligence / ¥l g’dﬁﬂﬂT

3. General intelligence / ATHTT gajﬁw

4. Practical intelligence / SATagIR e ftHr

Correct Answer :-

» Practical intelligence / SATagIRe et

15) What term refers to the biological development of an individual? / &t =afeda & sifasw R
F AU 91 Usg sTAATT fhAT FATGT 82

1. Learning / 3f&e1#

2. Maturity / gRYaFadr

3. Maturation / 9R9eFadr
4. Aging / 3-11'{5!_3:@'

Correct Answer :-

o Maturation / 9RYeaar

16) What term denotes the negative and positive evaluations an individual makes about the self? /
fFt safda qanr @ & AN F Fv v FERAF 3R FERHAF Aediwa # FE oreg
fasfa fear?

1. Self-esteem / TcH-GFHTT
2. Self-efficacy / FI-FHTGRTIRAT
3. Self-centeredness / 3TcH-chg T

4, Self involvement / TI-TEHATIIAT

Correct Answer :-

o Self-esteem / 3TcH-HFHTA

17) Which psychologist carried out an experiment of classical conditioning involving a little boy

cauedAlbert?/mmﬁmmwmmﬁammgmmm
(FenlAFer FIR@T) W vF gAoT FAT?



1. B.F. Skinner / &T. T%. TR
2. E.L. Thorndike / §. TH. UTASSH
3. Ivan Pavlov / 3dTeT diddlid

4, John Watson / SlieT dicdel

Correct Answer :-
o John Watson / SifeT aredeT

18) Which part of the sensory register captures visual aspects of the environment? / Hddr (e
F1 FlA-71 REAT wfawor & o7 wgepst N Foaw Far 82

1. Iconic memory / FfdTS&d Ffd
2. Echoic memory / ?ngrr F-Hﬁ-f
3. Visuospatial sketchpad / o1 TaEl Thads

4, Visual store / T HIg

Correct Answer :-

+ Iconic memory / FfdS&d T

19) Which of the following is a reason for a student seeking counselling/ Ifg v o WA ddr
g, af sue Aeafaf@a & ¥ Fa1 FROT &ar @2

1. Career indecisions/ 92IRTd HAHTH
2. Sensible/ HASACH

3. Strong/ mﬁ

4. Superior/ AT

Correct Answer :-
e Career indecisions/ ORI 3TTHTH

20) Which of the following is not a technique to aid the storage of information in long term
memory? / faFafaf@a & @ - federfos Ffa & gaam F iROT F FEIar F@A A
asedls AE 872

1. Elaboration / fa&ar

2. Rehearsal / ﬁ%’!ﬁﬂ

3. Chunking / GIET)

4. Mnemonics / Wfd-faz



Correct Answer :-

+ Chunking / @fear

21) Which of the following statement would be true in case of an extrovert person?/ a%'a:’l;@"r afed
& A # fArafaf@a § § sia-ar e 7@ o

1. Social situations drain their energy./ TTHTRSTE TR IAHT oIl B! THE HR St & 1

2. They gain energy from social situations./ & AT ATTAT F ol UTed I g

3. They gain energy from within. / 37T 37X & FoiT Iod &I gl

4, They prefer working alone./ d 37ohel &HIH FLAT THG FId gl

Correct Answer :-

+ They gain energy from social situations./ @ HHIfol TAfaar & Foll gIod X gl

22) Which of the following statements is true regarding algorithms?/ TeaNRYA & HaeT &
frafaf@a & & sla-w F9a7 7§ 7

1. An algorithm is a set of steps to follow intended to solve a specific problem. / TedNXUH THh fafarse
THEIT T §ol HA & IeRT F JHVT HA & [T @O 1 TH F6 &

2. An algorithm is a rule of thumb that gives some guidance on how to do a task but does not guarantee a

solution consistently./ Teal YA Tk W @ gpar et & & el & I A PO
AW &l & olfthet fAaR FATITeT i aARE =g e ¢

3. An algorithm’s success is independent of the'sequence of steps followed during its execution./ Tdh

TANRYA & HAd P WG & SR ISTY T RO & 3HIhH I W g
4. An algorithm is a rule of thumb that gives some guidance on how to do a task & guarantees a solution

every time./ TENTRYT T SHaRIg Fom § ot forel ord &1 vl & e oo Amfesi 3a1 § 8k & §R
FHTYH BT TRE T B

Correct Answer :-

« An algorithm is a set of steps to follow intended to solve a specific problem. / TeMRYA Teh fafArse
THET T gl A & 3682T U 3TE0T Al & AT =O %7 U Fofg &

23) Who used the term Deviation Intelligence Quotient? / f=esr gefer sueeuar (3fvere gefasie
Fdie) ersg 1 wAT fFEsr R

1. Alfred Binet / 33 fosic

2. Lewis Terman / g8 THA

3. David Wechsler / 37a8 a¥ger
4, William Stern / faferas Teet

Correct Answer :-



o David Wechsler / 3fd8 3a&aer

24) How does academic curricula subtly promote gender discrimination? / APGTAF

UISaHA, fAr Agea F1 FA ForEaT AT §7?

1. Very little mention of achievements by females compared to achievements by male. /w dr

GEol H ATGATI T 3UATEAT T Igd A 3oold AT

2. Unethical grading amongst males and female students. /W 3R Afger 8@ & &
3t AfSam)

3. Focusing mathematics and science courses only to male students / hael C_KG[ o & o
g 3R AT TToTsd 9T higd FT|

4. Unequal funding towards male education compared to female education /?Fl'%?ﬂ freqr &
oot H gy RIeT & 9fd 3rAE Afdeor |

Correct Answer :-

« Very little mention of achievements by females compared to achievements by male. /W r

ol H ATGATIT T 3UATEAT T Igd A 3cold AT

25) Children having phonological core deficits suffer from . /AP HIR HHI aTd g
GRS GRS

1. Dyslexia / [3Eelferaar

2. Dyscalculia / %ﬁmﬂﬁm
3. Dystopia / f3&aIfaT

4, Dysnomia / TS&A AT

Correct Answer :-

o Dyslexia / BEeifaaar

26) A father expects all his children, aged 4, 6 and 12 to learn the same subjects together. This would be
in violation of which principle of development? / Tch ILGIEELE] 4,6 3R 12 af Y S Fafis=i A
Sufte a1 § o 3 ve a1y war fowa W | o e & foa Risia &1 @s grm?

1. There are individual rates of development / AT @1 S-S &< @?ﬂ) B gl
2. Development proceeds from simple to complex / fapT TR T Sifeedr &1 3R 3F dedl %I
3. Development depends on maturation and learning / fawr, uRuer 3R 3T IR AR vt %I

4. Development is a continuous process / [T T Fdd Ufehdl gl

Correct Answer :-



¢ Development depends on maturation and learning / ﬁw, gRuedr 3R e R R HRaT s |

27) Intelligence is something that grows and develops through a series of stages. There are both
qualitative and quantitative differences between the thinking of young children versus older
children. Who put forward this theory? / gaﬁmm (Sefaeiw) v Y ufhar & o § vyt Hr
H@ar & AEIH F Toch AR AT Bl ¥ Bk T=at g9 93 =t fr A9 F & qoneAs AR
AATEAF a3 81 39 Rguia & e yfwfa fr?

1. B.F Skinner / &Y. T%. &&haT
2. Howard Gardner / g/@s MSeR
3. Jean Piaget / S s

4, John Dewey / St $\é’

Correct Answer :-

o Jean Piaget / SfisT 9T

28) The infant is able to move about, especially because of the growth of ./ ICRILESUE: ]

_ ¥ Ao ¥ oru Ry vfasha g9 & gam R

1. Motor areas only / @hael HIeI &1F (A TR

2. Neither sensory nor motor areas / a7 dl TGl AR o1 6T shATcaD &1
3. Sensory areas only / Fhaol TdeT &1 (HAT BRAT)

4. Sensory and motor areas / HAGT 3 fohdTcHe &1 Gleil

Correct Answer :-

» Sensory and motor areas / zqa'c?r IR fhaTcas a7 E\"IH'I

29) can cause deficiency diseases that adversely affect the growth and development of

childre%n / , T Bt Ffeat o1 FRUT 99 IFHar @ o T Ft g iR ey R ufoga yvre
STeraT 21

1. Mental Illness / ATATAS STHRT
2. Anemia/ {&Fdlreddr
3. Malnutrition/ Tcﬂ'qUT

4. Clinical Depression/ sigITeleh GHTG

Correct Answer :-

e Malnutrition/ ?DHQTGI'UT



30) attribution assigns the cause of behavior to the internal characteristics of a

person?:/ TUIRTYYT (TeegRI) fdt safaa @t srialve faxivarsii & saagR &1 R
Farar g1

1. Dispositional / thema (FBEaiforereTer)
2. Situational / ufas=a

3. Environmental / 93TaRoT

4. Cultural /Fiﬁﬁ-@

Correct Answer :-

« Dispositional / tera (f3Taifarerae)

Topic:- General Hindi (L1GH)

1) IEHA YT YW &1, 7d dIS! Iep|

ge ¥ fbz 1 frdy, ey s i sl

e e w9 ot f9uT, 99 8 | My

g AR o e, ife 7 R S

TS 919 99 99, 99 919 99 1|

Iew gafg diReE), T wa sl

4fY I ora U @1 @y fora firaa srama|
Ief gS1E S 8, STa fUsma Sl

3w forer wufa foq, oY = fufa @gr

forg it i sreret &Y, AIfE < S s
ITed U= B UG I IR WH 91 U= BT IR a15¢|
= qafe e S @ ared 82

1. 378 | HIg e

2. 7 I draa §

3. 381 fr Rars e ar diuf & gl &ar
4, U HT OIS &

Correct Answer :-

o S8 T A FAT I et J 9rer Sar
2) A YT U P, 99 S ICH |

g ¥ fbe A1 frdy, fra s i s



M= et w1 1 far, 7= 81 et M

g AR i e, Sife 7 AR S

TS 919 99 99, 99 91 99 S|

IR gafd Hite), va wa s

4 3§ 9 U @1 9y fora fiaa srama

el 99TE P g, STd fUsmat s

Iew= fet dufa fas, &t =1 faufa s

o urit i st @1, fE 3 = sarn

ST U Bl UgHR A T 9 91 U= $T Sk Ia13¢)
= g U sul wrere @1, AfE IS 9 sar &1 T et 82
1. I T g@ ST, a A T I & g0 ST qrr |
2. 510 ¥ HIg AL

3.9 STl &Y T gl

4. T ST & F© AL FAA &

Correct Answer :-

. I AT @ S, df FAA H gF A g @ ardr |

3) IfRW YT U6 P, 7 A} TeswE|
ge ¥ fbz A1 firy, fore s wiy sl
3w et 71 1 faar, w1 € 3 M)
I AT w v, sife 7 AR S
TS 919 99 99, 99 919 9 S|
Iews gafg ke, ga wa s
4fY I o1 U @1 @y fora firaa srama
I TSTE B g, S Sl Sl
Ifew= e wufa fam, ®t 7 fyufa e
forg urit <t st Y, AfE S S =
SWT UL B UgHR A1 I 91 91 U= HT Sk 93¢}
U ‘IS IS8’ T T a1y 82

1. S9N ST 5097

2. 31 | Al TG
3. 93 SR & &



4. FHg @I faRATeldr

Correct Answer :-

4) fHA YT 9H FT, 7 dIS! IeHH|

ge 3 fbv =1 frdy, fre oifes i sl

e et w1 1 far, 7= 8 et i

I AR o e, ife 7 AR S

TS 919 99 99, 99 91 99 [

Iew gafe AR, o wa sram

4 EW 9 U @1 9y fora fiaa sramg|

Iefl IT€ B 7, wTa R S

Iew= fet dufa fas, &t =1 faufa s

&g urit i st @1, fE 3 T sarn

ST UL Bl UgHR AA1E I 9 9T U= HT Six Ia13C|
U= ge | fibr 1 i, e oifs ufy s & @ e 32

1. 395 ¥ P el
2. % R Redr ge S X f6Y T 781 g arer

3. 915 A o6l gl

4.7l & S9E Red e &

Correct Answer :-

« Ush §X Redr ¢¢ = 9 Y 34T o187 g1 arar

5) AT YT U9 &1, W 15! Iep|
ge ¥ fbz 1 frdy, ey s it sl
e e w9 &t f3uT, 99 8 3| My
g AR i e, aife = AR S
TS 919 99 99, 99 919 99 1|

Ifew gafg ke, g wa s
4fY 36 o1a U @1 @y fora firaa srama
I g1¢ #19 B, SvTa st S
3w e wufa foq, oY = ot g



&g urit <oi srere @1, A% ¥ 9 smmi

SWT UL B UgHR A1 I 9 9T U= HT Sk 9a13¢|
w: 3ifdar’ &1 ordf T gien 32

1. 39 o=t

2. hddl 3YGTH FIAT

3. hddl HTEh 35T
4. had STl

Correct Answer :-

6) AT YT U FT, 7 ArSt TeP |
ge 3 b =1 frdy, fra oifs i s
o= et w1 1 far, 7= 8 et M
g eifeae @ v, 9ife 7 ag a1l
TS 91 99 99, 99 I8 99 &4 |

Iew qafe e, o wa smami

o 8 o U ®i oy forg fuaa srema
I T9TE P14 7, ST M S
ewa fAw wufa o, o1 = faufa wer
o urit i st @1, fE S = smrn
ST U Bl UgHR A1 T 9 9T U= $T Ik Ia13¢)
: ‘TCH T’ Xeg T AT 314 72

1. TTH HT

2. $TCHT

3. 9eR &

4, AT

Correct Answer :-

7) U YT U F1, A ST ACHI|
ge ¥ fbz =1 frdy, fre s i sl
e e w9 &t f3ur, 99 8 | My



g AR o e, ife 7 AR S

TS 919 99 99, 99 919 99 S|

= gae difEl, v wa sEm

4 EW 9 U &1 9y ora fiaa sramg

el 99TE B g, ST fUsmat S

Iew= fret dufa fas, @t =1 faufa s

o urit <ot sraw &1, AfE a9 sEmi

ST UL Bl UgHR - I 9 91 U= $T Sk 9a13¢)
T: 3T T B YT gIRI A Fg1 W IADT ATER BT g1 |11 82
1. HETT3YfY Tehe il T

2. HETIAT el Pl

3. 91 S &l

4. FAee &1 SIg 39T &I

Correct Answer :-

o HEE P SIE 3UGHT &l

8) 3w v U F1, A St IePp |

g ¥ fbe A1 fiey, fore wifs w sl

3w et 71 o1 faar, w1 €1 I M)

g fSaR o e, §ife 7 a2

TS 919 99 99, 99 919 99 S|

Ifeu gafg dife), ga wa s

4fsY I o1a U @1 @y fora firaa srama

I 918 B g, SWIa el S

3w e wufa faq, @ 7 fufa @gr

fog urft <t sreret Y, A < v F=ma

SWa UL B UgHR A1 I 91 91 U= $T Sk 93¢}
TR: W9 3HTYP YR YH-HURT 781 gidl i, TR T B 82
1. 39 At

2. hadl Heell FIC o &

3. %del g H1S A §

4. hdel 3ULT X &




Correct Answer :-

9) AT YT U FT, 7 St Tep |

¢ A fibr =1 frdl, et oits uft s

o= et w1 1 far, 7= 8 et M
gy afsae @ v, 9ife 7 a8 S|

TS 91 9 99, 99 919 9 94|

e qafE e, o wa s

oy T8 5 U &1 @y fora fUaa srama
3 S3TE 1 7, SvTa frsmat s
Iew= et dufa fom, @t = faufa @sm
fog urit i st @1, fE <fa | sarn
ST T H) UgHR A I 9 91 U= $T Sk 9a13¢|
U: T 36 3R IAMeH U &t afe 82
1. 98 | HIg e

2.3l 1S 8

3.8 Uh & &

4. AET, 3TCTIT-3eTT &

Correct Answer :-

o Qe weh g g

10) U YT U F1, A IS AH |
ge ¥ fbz =1 frdy, fre s i sl
M= et w1 1 far, 7= 8 et T
I AR o e, ife 7 AR S
TS 919 99 99, 99 91 99 S|
= gae difEl, v wa sEm

4 EW 5 U @1 9y ora fiaa sramg
I TSTS P &, a3t s
Iew= ft dufa fam, &t =1 faufa s
o urt i st @1, AfE 3 aF smrn



SWa UL B UgHR A1 IS 9 91 U= $T Sk 93¢}
U: B = ‘oI st s {5 we § o9t 32

1. 39 At

2. §Ag & el BT o9 A TG &; haol $H el H
3. GAG P UG FAHbIA BIAT §; haol SHb Hesl H

4. FHG HT Al AT A g AT A, Fer $HF Hedd A

Correct Answer :-

11) MR YR UH BT, 7 IS e

ge 3 b =1 frdy, fre oifs i s

M= et w1 1 far, 7= 6 et i

g afSaR i e, sife 7 & S

TS 919 99 99, 99 91 99 S|

IR gafg e, va wa s

ol B od U di oy forg fUaa srama

el 99TE I &, ST fUSmat S il

Iew= fret ufa fom, @t 7 faufa @sm

fog urit i wrerer @1, AfE fa | sarn

ST U Bl UgHR A I 9 91 U= $T Ik I3}
U: TP B A1 A 99 $ Y 11 82

L g8 q PS5 QT

2.%fd o CH g Far g

3. 9 Fgl WY OIer §

4. U HH F QT B F S ot T @) S §

Correct Answer :-

« Ueh 1A T QU Hlel ¥ STl 8T AT g1 ST &
12) (A 4T U9 &1, 7 ISt dep|

ge ¥ fbz =1 frdy, freY s it sl

e e w9 &t f3uT, 99 8 | My

I AR i e, ife = AR S



TS 919 99 99, 99 919 99 S|

Ifew= gafd dRE, va wa s

4 EW 94 U &1 9y fora fiaa sramg|

I g1¢ #1 3, SvTa framet s

Iew= ft dufa fas, &t =1 faufa @smr

fog urit =i wrere @1, AfE 3fa | smmn
ST UL Bl UgHR A I 9 9T U= HT Sk Ia13¢|
TA: U BT 3ar’ A 1 S4Y ST T 32
1. 33T 9radr der

2. o G TTelt el

3. IRA AT Grar

4. 9% greAt dier

Correct Answer :-

o dod glaY 9T 9 ar

(5

13) MW YT U9 BT, 7 dIs! e |

g ¥ fpe 1 frdy, foret s wi sl

3w et w91 1 faam, 71 € Irat ma)

I fSAR o e, §ife 7 a4

& WY 99 99, 99 919 9 S|

Ru gafE dife), wa wa srem

4fsy I o1a U @1 @y fora firaa srama

I IS8 B §, WA el Sl

Ifew e wufa faq, @ = fufa Tgr

&g urit =i st &1, A% ¥ 9 sam|

ST UL B UgHR A1 I 9 91 U= HT Sk 9a13¢|
WR: UH BT YR gex W Ugd @) Hifa wf &Y 8 urar?
1. 398 | g e

2. Fifeh 3T aifs g S |

3. 30H IR 3 el gl

4, 9 He T B

Correct Answer :-



14) A YW YA B, 9 A5 dePpM|

¢ A fibr a1 frdl, et oits uft s

e et w1 &1 far, 7= 8 et M

g afSaE v g, §ife 7 2 s

TS 919 99 99, 99 1Y 99 S|

IRu gafE dife, wa wa srem

oy T 5 U &1 @y fora fUaa srama

3 93TE 91 7, SvTa frsmat s

Ifeu forer wufa faq, @ = fyufa Tgr

g urit =i srere &1, A% X9 9 sEmi

SUa U= B UgHh? 1 YR WM 9Td U= BT IR 9a13¢|
UH: Y69 A AR St (UST UP oA DI 4=I R HT 52
1. MO8 M A H ADell [Helel sl THTGAT Bl ¢

2. TS & wA ST § o A gerch 8, fdemer THeT & el & e |
3. Fa8 # Ul Iiger giar g
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Tagdast F oft amer for a1 e serars sdy dared Fv @ a1 1860 F AW A F T gfEor
geoll AR T AR & Uo7 A AR o T IR FAENT FEEt w1 wEde s foar sk R wifaer
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1. I
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Correct Answer :-



« AT 1860 H

Topic:- General English(L2GE)

1) Fillin the blank with the correct option in the given sentence:

If you commit some data to memory, you memor-- them.
1. --ation

2. --ize

3. —ial

4. --ing

Correct Answer :-

2) Fillin the blank with the correct option in the given sentence:

When a person is writing down the items of clothing he has on, he is --scribing what he is
wearing.

1. as--
2. de--
3. pro--

4. in--

Correct Answer :-

o de--

3) Fill in the blank with the correct option in the given sentence:

The belief in life after death is prevalent both in primitive societies advanced
cultures.

1. but
2. as well as
3. and

4. besides



Correct Answer :-

e and

4) Read the following passage and answer the question given below:

Teachers are said to be the makers of destiny, pillars of knowledge, sea of wisdom and silent
builders of future generations. The teaching profession is a life-enriching profession. Various
other professions drain the life-force of an employee but this profession enriches life. Can a
teacher love his students? Yes, loving all children equally will produce three effects. Firstly, it
reflects good teaching. Secondly, it will give each child great satisfaction. And thirdly, it will
enrich him intellectually and emotionally. Teachers are co-workers with God. They are golden
lamps, dispelling the darkness of ignorance and radiating knowledge and understanding.

They are moulders of the country’s future leaders and builders of a better and brighter
tomorrow. But above all, teachers have the power to stimulate their students to think, to
reason, to imagine and to dream. I said, "I am miserable, low and nothing”. It was my teacher
who taught me to say "I can achieve my goal.” It's a teacher and only a teacher who can
motivate us at the time of our failures. The true teacher is he who can come down to the level of
the students and understand them. A teacher is a life giver.

Why does the writer compare a teacher to a golden lamp?
1. Because a teacher glows with wisdom

2. Because a teacher dispels the darkness of ignorance

3. Because a teacher burns out while the dominating

4. Because a teacher spreads wisdom

Correct Answer :-

« Because a teacher dispels the darkness of ignorance

5) Read the following passage and answer the question given below:

Teachers are said to be the makers of destiny, pillars of knowledge, sea of wisdom and silent
builders of future generations. The teaching profession is a life-enriching profession. Various
other professions drain the life-force of an employee but this profession enriches life. Can a
teacher love his students? Yes, loving all children equally will produce three effects. Firstly, it
reflects good teaching. Secondly, it will give each child great satisfaction. And thirdly, it will
enrich him intellectually and emotionally. Teachers are co-workers with God. They are golden
lamps, dispelling the darkness of ignorance and radiating knowledge and understanding.

They are moulders of the country’s future leaders and builders of a better and brighter
tomorrow. But above all, teachers have the power to stimulate their students to think, to
reason, to imagine and to dream. I said, "I am miserable, low and nothing”. It was my teacher
who taught me to say "I can achieve my goal.” It's a teacher and only a teacher who can



motivate us at the time of our failures. The true teacher is he who can come down to the level of
the students and understand them. A teacher is a life giver.

Who are responsible for future leaders?

1. Teachers at schools
2. Teachers who give career guidance
3. Parents who are the first teachers

4, Professors at universities

Correct Answer :-

» Teachers at schools

6) Read the following passage and answer the question given below:

Teachers are said to be the makers of destiny, pillars of knowledge, sea of wisdom and silent
builders of future generations. The teaching profession is a life-enriching profession. Various
other professions drain the life-force of an employee but this profession enriches life. Can a
teacher love his students? Yes, loving all children equally will produce three effects. Firstly, it
reflects good teaching. Secondly, it will give each child great satisfaction. And thirdly, it will
enrich him intellectually and emotionally. Teachers are co-workers with God. They are golden
lamps, dispelling the darkness of ignorance and radiating knowledge and understanding.

They are moulders of the country’s futuredeaders and builders'of a better and brighter
tomorrow. But above all, teachers have the'powerito stimulatetheir students to think, to
reason, to imagine and to dream. I said, "I am miserable, low and nothing”. It was my teacher
who taught me to say "I can achieve my goal.” It's a teacher and only a teacher who can
motivate us at the time of our failures. The true teacher is he who can come down to the level of
the students and understand them. A teacher is a life giver.

What are teachers considered to be?
1. Sea of wisdom only

2. All of the above

3. Makers of destiny only

4. Pillars of knowledge only

Correct Answer :-

e All of the above

7) Read the following passage and answer the question given below:



Teachers are said to be the makers of destiny, pillars of knowledge, sea of wisdom and silent
builders of future generations. The teaching profession is a life-enriching profession. Various
other professions drain the life-force of an employee but this profession enriches life. Can a
teacher love his students? Yes, loving all children equally will produce three effects. Firstly, it
reflects good teaching. Secondly, it will give each child great satisfaction. And thirdly, it will
enrich him intellectually and emotionally. Teachers are co-workers with God. They are golden
lamps, dispelling the darkness of ignorance and radiating knowledge and understanding.

They are moulders of the country’s future leaders and builders of a better and brighter
tomorrow. But above all, teachers have the power to stimulate their students to think, to
reason, to imagine and to dream. I said, "I am miserable, low and nothing”. It was my teacher
who taught me to say "I can achieve my goal.” It's a teacher and only a teacher who can
motivate us at the time of our failures. The true teacher is he who can come down to the level of
the students and understand them. A teacher is a life giver.

What can the love of children ensure in a teacher?
1. Only satisfaction

2. Enrichment of mind and heart only

3. Only good teaching

4. Good teaching, enrichment of mind and heart and satisfaction

Correct Answer :-

« Good teaching, enrichment of mind and heart and satisfaction

8) Read the poem and answer the question given below:

In a dark wood, Prince Kano lost his way

And searched in vain through the long summer's day.
At last, when night was near, he came in sight

Of a small clearing filled with yellow light,

And there, bending beside his brazier stood

A charcoal burner wearing a black hood.

The Prince cried out for joy, 'Good friend, I'll give
What you will ask, guide me to where I live.’

The man pulled back his hood, he had no face,
Where it should be there was an empty space.
Half dead with fear the Prince staggered away,
Rushed blindly through the wood till break of day;
And then he saw a larger clearing, filled

With house, people; but his soul was chilled.

He looked around for comfort, and his search

Let him inside a small, half-empty church

Where monks prayed. 'Father,’ to one he said,

'T've seen a dreadful thing; I am afraid.'

'What did you see, my son?' I saw a man

Whose face was like...' and, as the Prince began,
The monk drew back his hood and seemed to hiss,
Pointing to where his face should be, 'Like this?'



Where did Prince Kano lose his way?
1. In a desert

2. In a thick forest on a mountain

3. In a dark wood

4, In a cave

Correct Answer :-

o In a dark wood

9) Read the sentence carefully and choose the option that has an error in it:

The visitors complained on poor accommodation they were given.
1. on poor accommodation

2. The visitors complained

3. they were given.

4. No error

Correct Answer :-

e on poor accommodation

10) Read the sentence carefully and choose the option that has an error in it:

In the chapter one, there is a vivid explanation of photosynthesis, complete with illustrations.
1. of photosynthesis,

2. there is a vivid explanation

3. In the chapter one,

4. complete with illustrations.

Correct Answer :-

¢ In the chapter one,

11) Read the poem and answer the question given below:

In a dark wood, Prince Kano lost his way
And searched in vain through the long summer's day.



At last, when night was near, he came in sight
Of a small clearing filled with yellow light,

And there, bending beside his brazier stood

A charcoal burner wearing a black hood.

The Prince cried out for joy, 'Good friend, Il give
What you will ask, guide me to where I live.'

The man pulled back his hood, he had no face,
Where it should be there was an empty space.
Half dead with fear the Prince staggered away,
Rushed blindly through the wood till break of day;
And then he saw a larger clearing, filled

With house, people; but his soul was chilled.

He looked around for comfort, and his search

Let him inside a small, half-empty church

Where monks prayed. 'Father,' to one he said,

'Tve seen a dreadful thing; I am afraid."

'What did you see, my son?' I saw a man

Whose face was like..." and, as the Prince began,
The monk drew back his hood and seemed to hiss,
Pointing to where his face should be, 'Like this?'

The Prince feel happy because .

1. he had found some warm place

2. he had met someone who could give him food

3. he had met someone who could guide him back home

4. he would get lot of wealth

Correct Answer :-

« he had met someone who could guide him back home

12) Read the poem and answer the question given below:

In a dark wood, Prince Kano lost his way

And searched in vain through the long summer's day.
At last, when night was near, he came in sight

Of a small clearing filled with yellow light,

And there, bending beside his brazier stood

A charcoal burner wearing a black hood.

The Prince cried out for joy, 'Good friend, Il give
What you will ask, guide me to where I live.'

The man pulled back his hood, he had no face,
Where it should be there was an empty space.
Half dead with fear the Prince staggered away,
Rushed blindly through the wood till break of day;
And then he saw a larger clearing, filled

With house, people; but his soul was chilled.

He looked around for comfort, and his search

Let him inside a small, half-empty church

Where monks prayed. 'Father,' to one he said,
Tve seen a dreadful thing; I am afraid.'

'What did you see, my son?' I saw a man

Whose face was like..." and, as the Prince began,



The monk drew back his hood and seemed to hiss,
Pointing to where his face should be, 'Like this?'

Why did the Prince draw back in fright?

1. Because the man he had met had an ugly face
2. Because the man he had met had red eyes
3. Because the man he had met was a robber

4. Because the man he had met had no face

Correct Answer :-

e Because the man he had met had no face

13) Read the poem and answer the question given below:

In a dark wood, Prince Kano lost his way

And searched in vain through the long summer's day.
At last, when night was near, he came in sight

Of a small clearing filled with yellow light,

And there, bending beside his brazier stood

A charcoal burner wearing a black hood.

The Prince cried out for joy, 'Good friend, 11 give
What you will ask, guide me to where I live.'

The man pulled back his hood, he had no face,
Where it should be there was an empty.space:
Half dead with fear the Prince staggered away,
Rushed blindly through the woodtill'break of day;
And then he saw a larger clearing, filled

With house, people; but his soul was chilled.

He looked around for comfort, and his search

Let him inside a small, half-empty church

Where monks prayed. 'Father,' to one he said,

'Tve seen a dreadful thing; I am afraid."

'What did you see, my son?' I saw a man

Whose face was like..." and, as the Prince began,
The monk drew back his hood and seemed to hiss,
Pointing to where his face should be, 'Like this?'

What was the source of the yellow light?
1. A charcoal burner

2. Sodium light

3. The sun

4. Arc lights

Correct Answer :-



« A charcoal burner
14) Fill in the blank with the correct option in the given sentence:

The judge ruled that the criminal be

1. imposter
2. imprisoned
3. imprisonment

4. impersonated

Correct Answer :-
e imprisoned

15) Choose the right tag:

She hasn't a car, ?
1. hasn't she

2. haven't she

3. has she

4, is she

Correct Answer :-

e has she

16) Choose the most appropriate determiner in the given sentence.

The children finished game.
1. the

2. their

3. they

4. them

Correct Answer :-

o their



17) Fill in the blank with the most appropriate preposition in the given sentence.
Rohan and Rahul like to talk different types of sports.

1. besides

2. above

3. about

4, towards

Correct Answer :-

e about

18) Choose the appropriate antonym for the highlighted word in the given sentence.

Narrow minded people always disagree with the view of the majority.

1. Intolerant
2. Biased
3. Tolerant

4, Hardheaded

Correct Answer :-

e Tolerant

19) Choose the appropriate prepositions for the given sentence:

A galaxy may extend thousands light years.
1. over, of

2. into, of

3. for, of

4. by, of

Correct Answer :-

* over, of

20) Choose the appropriate pronouns for the below sentence:

Shankar is a stay-at-home dad. chose to do in order to support wife’s
career.



1. We, he, his
2. He, it, his
3. They, it, her

4, |, it, her

Correct Answer :-
e He, it, his

21) Choose the appropriate synonym for the highlighted word in the given sentence.

In our new house, the living room was so commodious that we decided to divide it into a dining
room and a lounge.

1. uncomfortable
2. dim lit
3. roomy

4. beautiful

Correct Answer :-
e roomy

22) Choose the appropriate option that rewrites the given sentence in its passive voice.

It was said by elders that a cat has nine lives.
1. A cat has nine lives according to the elders.

2. A cat has nine lives.

3. We said cat has nine lives.

4. The elders said that a cat has nine lives.

Correct Answer :-

e The elders said that a cat has nine lives.

23) Choose the appropriate tense to fill in the blank in the given sentence:

After a walk, Manu very energetic every morning.

1. will feel



2. is feeling
3. felt

4, feels

Correct Answer :-

o feels

24) Choose appropriate articles for the given sentence:

_____effectof __eventon ___ person is more harmful than __ event itself.
1. no article required, the, no article required, the

2. An, a, a, no article required

3. A, a, the, no article required

4. The, an, a, the

Correct Answer :-

e The, an, a, the

25) Choose an appropriate modal for the given sentence:

It was so dark that I not see where I parked my car.
1. would

2. must

3. could

4, should

Correct Answer :-
e could

26) Choose the option that substitutes the given phrase appropriately.

Any kind of legal restriction of commerce
1. Treaty
2. Sanction

3. Embargo



4. Levy

Correct Answer :-

e Embargo

27) Choose the option that best transforms the given sentence without changing its meaning:
He was occupied with important matters. He had no time to meet us.

1. He was so occupied with important matters that he had no time to meet us.

2. He was much occupied with important matters, so only he had no time to meet us.

3. Being occupied with important matters, we had no time to meet him.

4. Important matters occupied him so that he could not see us.

Correct Answer :-
» He was so occupied with important matters that he had no time to meet us.

28) Choose the option that best transforms the sentence into its Indirect form:

*‘Nothing grows in my garden. It never gets any sun,’ she said.

1. She complains if that nothing ever grew in her garden as it never gets any sun.
2. She complain that nothing ever grown in hergarden as it never got:any sun.
3. She complained that nothing ever grew in her garden as it never got any sun.

4, She said that nothing ever grows in her garden as it never got any sun.

Correct Answer :-
* She complained that nothing ever grew in her garden as it never got any sun.

29) Choose the option that best explains the highlighted expression:
How can you be fresh as a daisy so early in the morning?

1. delicate

2. energetic

3. flushed

4. pure

Correct Answer :-

s energetic



30) Change the given statement to indirect speech.
My sister said, “I may go to London”.

1. My sister said that she might go to London.

2. My sister said that she may go to London.

3. My sister said that she will go to London.

4. My sister said I may go to London.

Correct Answer :-

» My sister said that she might go to London.

Topic:- HINDI (HIN)

1) o @y # fret gee, avq raar e #1 aoie giar B, 39 e yeR &1 ey Fwwa
®l

1. HIaTcA® fAser

2. [aaRTeAs foay

3. JUIATCHS ey

4, FIfgfcaer AT JTelideAlcAS felaer

Correct Answer :-

. gUTATCHS e

Correct Answer :-

o AT Gog
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el
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o 91U G H
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Correct Answer :-
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1. goI{T SHTe; Efaddy

2. gheic FAarér
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4, AGIEAY gAY
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Correct Answer :-
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Correct Answer :-

o 3WUTd T
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1. 95

2. 0 AT

3. 3ol

4. 3O

Correct Answer :-

. O A

33) U% SiFeT qaRT g SiFcy 1 A% vaRe o7 & Fla-@ wauer w1 g3hr fear
STe?

1. FARIGT/AGIGAT



2. fArey/E
3. o

4, 3lFeT

Correct Answer :-
. FQICT/AGICT

34) 9w afta sl fF Asrar 82

1. Toh iAol & gEX HraTerd

2. Ueh RITo @ FATAR T A TR

3. GAMR 99 & HUGeHh GaRT HdTeld & TSR

4. Ueh TSR CaRT @ AR Hr

Correct Answer :-

o Uh HATT ¥ TARMR TAT A Fhrarard

35) fFT & ¥ - FaE fiew g i T8 22
1. greil

2. HFAET 3T =T

3.dIsg
SN

4. $caTg

Correct Answer :-

36) farT & ¥ Fla-71 AeF FHAHRT vAG gawr AT A §72
1. TeaTed

2. YT

3. ThedIedd

4. 9gelT I

Correct Answer :-



37) et # ¥ *la-u1 AeF Mg THA ganr @ a8 &2
1. & & Jeled

2. I

3. 3Ter 31

4. 3T9TG T Th e

Correct Answer :-

38) faw & ¥ araaT Pl A A ag ¥ -
1. qUTATET geufd

2. ededTcHeh Tetfd

3. 38R Sy fafer

4. TacgTcHA® qeuTd

Correct Answer :-

39) farT & @ &l & el afvgdst Rdhemd &= =g &2
1. 3qel

2. gl

3. gecell

4. SToT &9

Correct Answer :-

40) T # ¥ F¥ WIHER ' BRERE F MUK FGHT A ¢ Faw smar 82
1. gIHid B e

2. gRAWT FTT=

3. SO gHIG

4. AgIAT gaAT

Correct Answer :-



41) farr F ¥ forw aeF F AET 9 RargT &2
1. TG & T

2. 9gelT TSI

3. FIUH

4, 3TEr 3

Correct Answer :-

42) far # ¥ R Sfdsea s &1 #1378 AEn ST §2
1. fogry

2. &rerr

3. G3TelG

4. ATIH

Correct Answer :-

43) FEell gererr T A HWeAfFT F1 FaT @ T F?
1.9 | Hg e

2. %had Alf@s

3. hael faf@d

4, fof@a 3k #Aif@s a=r

Correct Answer :-

. %had Af@H

44) e # ¥ rua Rrmelierar & Riquiad W oo R § -
1. WA T

2. el fd

3. Shdol Hieel

4, had HACE



Correct Answer :-

o 3WUTd T

45) Frarst A it Fa FRATEAT F1 gar TIMEX IR g T F YA FgeArdl § -
1. HedreheT fafer

2. fav=er fafer

3. 39uRIcAS fafer

4. 3TelraelTcAs fafer

Correct Answer :-
« 3UURIcAS Tafe
46) arerl F T W@ F vF 3ugad aRkaer 79 ¢ -
1. faezrerm
2. 9T
3. AT
4, IRER

Correct Answer :-

47) s 4 @ FISA, dRiFT F e ¥ -
1. T & F ar e |

2. 9F] Teh G AT HA alel 3HTeh|

3. frdlt &1 38 fr 3fFa & AT &l

4. QU dTohd & Seell Il

Correct Answer :-

o Th FT F & 1|

48) “Ryar # @l F q@Et sFue F1” - fFwdr gfdqy 9fF T 372
1. ST

2. ATRIA



3. JerHiard

4. 90T

Correct Answer :-

49) fafia v ¥ R oTeT F FAFT TTH FAT TSN I 87
1. s

2. eafa

3.3

4. 9T T giAATEr T

Correct Answer :-

o VT AT FAIET FIGAT

50) #AgRdl gAT & Fed W 5T o IT RAARYURT FT TH1T AT SAAT 82
1. 99 g & AeAgdig &l

2. efiare & 3ifgdrdarg &

3. dicyr g¥iel & g@are &1

4. Q&Y el & Hifderarg @l

Correct Answer :-

51) ¥Er faseq Fae-

g THHR W T IR WA At et & sfferard Tea gl
1. 319

2. O

3. gefe

4. A9

Correct Answer :-



8 RFeq qamw -

oeg Y THT Fgerd g
1. 9

2. e

3. 9T

4. gl

Correct Answer :-

53) ¥e AT Tay -

frdlt witesr, atfeas Rur a1 affeas wgfr w foer = @y Fgerar ¢l
1. STaTcH AT

2. faaIRTcAs faee

3. goidTcAs faser

4, GIigicTes AT 3MTellellcHes foieaer

Correct Answer :-

. gifgfcass a1 TededlcAs e

54) fAafaf@d dfFaal & Fla-ar e 72
¥ Tven wF A, A RY Faw |

¥ AR e fAee A% Fog e ||
1. 8T FEfd el

2. JTTITH 3elh}

3. IHF HARR

4, F9& HedhR

Correct Answer :-

55) @ifecw &1 & forelt dor o sMforss Fardiwanst 1 aponme Fem @ E swEr w1 -
3R AT ANl Y ageren off At 71 wRew w1 FF A Ay F Ak 3fE A Ak @
¥ T skl a9 31 9 R Ade wag # e o1 S § a9 e d fiaar g F@
AIATEROT Ao @Y e § AR ¥ oeren § 5 3@ U #1 WA 9aw A1 W S7 W@ ¥ A 39



Hfod AT # AfRcT & IRUF F FF FaT gl T 37 T F Ifad g F TU=r H1 WRWoN
&ar ¥ @ wifger wuY it wera e wafet w1 war AE dem

3rdFa IR=BT F TeH A RE 71T woar 1 3eew AW
‘wifeeT F3fht wra RO ygfy #1 gar 7t dar ¥ FAT AT 2
1. TIfgeT AT &1 T&T g AT

2. HIfged AT &1 FARICH g &

3. @ifeea & yafar ve SRT 8T gl

4, TIfecT HidT TAT 7 3UA T &

Correct Answer :-

. TR AANTAT H RAI @ar Bl

56) Wiftew 1 FrT frt qor iy il RAwand #1 qoeme FEw FE {1 IEE FE @
39CY qFY AN Y ageren ot A€ B WRET w1 FE @ Ay F ok 3WF AwE Ak wHA
¥ fov syl @ 81 o9 fhdt AT @y A Rnen o1 ST @ a9 wse 7 fear dvw @
IIATEOT SqTed @ ST § 3 QWT orar § fF 3| AU FT WA Ude @ IR ST W@ § O 39
Hied AT H AR & HEAUF FT A FIGT g1 I 39 ASC H Ifad g F T°a H 9om
&ar g1 o wifgey w3t off A el yafeat @1 gar A S

39dFd IR F Yea Al U 10 W &1 3eax RfAW
ifitcT fret Tse &1 ofad @ @ HFd =rEr 2

1. TS I 3UGET G

2.3 &1 &ifden fAQWansit &1 oI ek

3. AT & AT 3ugiel defe]

4, §leAaT STET T AR fAATOT F=

Correct Answer :-

o AT & fOT 39BN daaT

57) wifeca &1 w1 forelt dor A silforss Frdtwanst 1 aonmE Fem @ E sEEr FE -
3R AT Al Y ageren off At 71 Wl w1 w1 @ Ay # ik afE A Ak @S
¥ fav suaelt g ¥ 9 R Aede @9 A e a1 Sl € a9 we
ATATEROT SATed @ ST § 3R ¥ eerer § fF 3w &wr F @A gaw #@ AR
HfoaT AT & AR & JUF F1 FF FAT ¢ TE 3F TS ' 9T g F
& ¥ @ wifder FaY oft Aera Rl wafet w1 gar ad dem

39gad IR=BE F YgHT AT e 10 wor 1 Iew fAf@w
YEdd aregier F1 3R ofdw F41 8 whar &7
1. ATfged & IS¢ /ar



2. g 3R #ifas fdwane
3. difgcd & ggar
4. Tifgcy 3R AT

Correct Answer :-

o Hfged AR AAITAr

58) wiftcw #1 1 forelt dor Y siMfarss Friwansit 7 aponme Fem @ ¥ sEET FE -
3R qFHT Al ;Y ageren off At 71 W w1 FF @ Ay F# Ak 3fE AwEA Ak @S
¥ T swanl o §1 o9 R Aed @y # Ben o1 S § a9 e
FIATERYT ST g SaT § 3R ¥aT werar € 6 39 & # @A gad @ AR
HfoT AT & AR & JUF F1 FF FAT ¢ TE 3H TS ' 9T g F
&ar 31 e wifgey w3t off were faelt wgfeat &1 et A o

3rdFa IR=DT F TeI A RE 71T woaT F1 3eew AW
YA AT F AR AT FT A F4T 872

1. $iifde QWA 1 oI FHer

2. HfSeT THT A TS &1 Ay e

3. HAST I HTAF HAlAIT FefTell

4. AY-AT 39 ST

Correct Answer :-

59) wiftew &1 Fr fret Ao iy siifs RAwand #1 oeme FEw aE {1 IEE FE @
39EY qFHY AN Y ageren o A€ B WRET w1 FE @ Ay F R 3RWF AwEE Ak wH
¥ fov syl @ ¢ o9 Rl AT @y A Rnn o1 S @ a9 wse 7 fear dvw @
FIATEROT &qTod @ STl & 3 W7 Orar € R 3§ U T A Gad Y AW ST @ E A 39
FT AT H AT & auF F FF FI@T & T I USE F AT @F ¥ Fw A 9o
&ar g1 wear wifge w3 off A el yafeat &1 qar AE

3udFd aRe=de F A A R v weq 71 3 _f@w

YA AT F HJAR fF W & v wfoa gaa sia-ar gar 82
1. 519 wifged $ifdeh fARAVATHT 1 o H Bl

2. 519 WIgcd 39S &1 o lell &

3. 59 AT TIfged N ALt geaT &

4, 9 FATST IdeT T 3N AT gl
Correct Answer :-

« SI9 AT Ydel I 3T Sar B



60) g fafaa dferal § #1991 5< 82
T UG o WTE ¥, afg SR SIS WIg |

e o 9 faua fay ,sawr vead faams 1
1. 379l o

2. Tell Bt

3. 36T B<

4, GRS B

Correct Answer :-

. Qe B



